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33. Where is the image produced by a plane mirror located?(33. i sl 81 all Leaiss Al 5 ) suall alii o)
SOLUTION:

The image is in a plane that is perpendicular to the mirror and the same distance behind the
mirror as the object is in front of the mirror.

(31 el bl 3 g gl aiallS 8T pall Lgils RSl (s o g 31 ) ae dalaic (5 gisa 35 ) uall () 65)

34. Describe the properties of a plane mirror.(34. & siwd 5l )l jaliad Caay)

SOLUTION: 77
A plane mirror is a flat, smooth surface from which light is reflected by specular {
reflection. The images created by plane mirrors are virtual, upright, and as far behind ?

the mirror as the object is in front of it. 3
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43. You have a small plane mirror that will be mounted on a wall. If you want to see

an image of your kne where should you place the mirror? (Level 3).
SOLUTION:

To see your knee the mirror needs to be at a spot midway between your knee and

eye. To see any part of your body, the mirror needs to
be midway between your eye and that part.
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48. What is the defect that all concave spherical mirrors have

and what causes it? > — o

SOLUTION:

Rays parallel to the axis that strike the edges of a concave spherical mirror are not reflected i

through the focal point. This effect is called spherical aberration. Ceeew ) e e
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52. Why are convex mirrors used as rearview mirrors?

SOLUTION: \Z
Convex mirrors are used as rearview mirrors because they allow for a wide range of view, {
allowing the driver to see a much larger area than is afforded by ordinary mirrors. \"?
3
9

53. Why is it impossible for a convex mirror to form a real image?

SOLUTION:
The light rays always diverge.
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76. Describe the properties of the image seen in the
single convex mirror in Figure 25. 75. Rearview Mirrors The outside rearview mirrors

of cars often carry the warning “Objects in the
mirror are closer than they appear.” What kind of
mirrors are these and what advantage do they
have?

SOLUTION:

Convex mirror; it provides a wider field of view.
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SOLUTION:
The image in a single convex mirror is always virtual, erect, smaller than the object, and Wag

located closer to the mirror than the object.
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